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1) f(t)=elcos2nt , —1<t<l , T=2
2)  f(t)=cosht , 0<t<l , f(-t)=—f(t) , T=2
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f<t+§> =—f(t)

T
f<t— 5) =—f(t)
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a, = f/o f (t) cos <$t> dt , nisodd
0 , n is even
T
4 [z 2
b — T/o f(t)sin <$t> dt ,  nisodd
0 , n is even
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ap=0, b, =0, /f COS<mT>dt , nisodd

, n is even
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ap=0 ,a,=0 ,b,= f/o f(t)sm<Tt>dt ; n is odd
0 : n is even
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fN (t) = A() + nZl An COS <Tt) + Bn Sin <Tt>
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en (t)=f ()= fn (1)
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if - Z<t< I
2 2 pr— p—
6-a)7°t {ﬂ—t i £<t<32” , 2, w=m

6byr(t)=t* , —w<t<m , T=21 , w=4
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S)T(t): y —§<t<§ y T=1
Nrit)=t> , 0<t<l , T=1
[+2t if -l<t<0
10)r(t) = {Z—Qt it 0<t<t 0 177
11) f(t) = |sint]
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